sinx * cos(x+y) + sin(x+y)=3cos(x+y)
4sinx = 5ctg(x+y)

sinx * cos(x+y) + sin(x+y)=3cos(x+y) :sin(x+y)

sinx * ctg(x+y) + 1=3 ctg(x+y)
sinx=a

ctg(x+y)=b

sin(x+y)!=0 - He paBeH

4sinx = 5ctg(x+y)

ab+1=3b
4a=5b

a=5/4b
5/4b"2-3b+1=0
5b"2-12b+4=0
D/4=4/2

b1=%

b2=2

al1=5/4 * %=,
a2=5/4* 2=5/2
sinx="%
x1=P/6+2Pk
x2=P-P/6+2Pk
Sinx=5/2 - He cyLlecTByeT

ctg(x+y)=%
x+y=arcctg2/5+Pn
y1=arcctg2/5+Pn-P/6-2Pk
y2=arcctg2/5+Pn-P+P/6-2Pk

OteeT (P/6+2Pk;arcctg2/5+Pn-P/6-2PkK)
(P-P/6+2Pk;arcctg2/5+Pn-P+P/6-2Pk)




